Atomic masses:

1. (5 Pts) Calculacz
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H=1.008, s=32.07, 0 =16.00, AL = 26.98

solution that contains 70.0 g of H,S04 in

[SIN¢]

280 nl of soluticr.
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(5 Pts) How many mcles of sulfate ilons are there in a 0.l-liter solution of
0.02-mclizar 21.(S04):7%
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= > 2H,0 + K, POy

s) what is the molarity of a phosphoric zacid solaf¢on if 15.66 mL of this
soiuticn requires 43.81 mL of 0.2283 & Na0H for titration to the

eguiva_ence point?

D220y + 3NaCH - Na3zPO,s + 3H,0
j3.24mL “43.8 |
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Prs) What volume of 0.385 molar nitric acid, HNO3, is required to react with

{
\
£3.8 mL of 0.0770 M calcium hydroxide, Ca(OH),, according to the following

equation?

2ENO; + Ca(OH), = Ca(NO3) + 2H,0
O_BéS '\:ﬂ‘-:) L/Q,DML
A 0,077 m\aﬁ
PRALTYE )
Héy":s i e
- QL‘ ' /C>C>C)fw\ L_ .
yg.s PR o om«‘" 2 mé =< [ mL 4o,
T Jbo0o ML | rosl . 3g5’ E?jé I ——
), | culo, ?




